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THE UNIFIED EXAMINATION (2018)
INDEPENDENT CHINESE SECONDARY SCHOOLS
MALAYSIA

Senior Middle Level

ENGLISH LANGUAGE
(SY03)

PAPER 2 READING AND LANGUAGE USE

Date : 23 October 2018
Time :10.25a.m.-11.45a.m.
(1 hour 20 minutes)

INSTRUCTIONS TO CANDIDATES

1. This subject comprises two papers:
Paper 1: Writing (50%)
Paper 2: Reading and Language Use (50%)

2. Paper 2 consists of two sections:

Section A: Reading (30%)
There are three parts in this section:
Part [: Critical Reading  (10%)
Part II: Vocabulary (10%)
Part III: Comprehension (10%)

Section B: Language Use (20%)
There are two parts in this section:
Part [: Error Identification (10%)
Part II: Word Forms (10%)

3. (i) Answer all the multiple-choice questions on ‘answer-sheet O’ (computer card),
select the best answer and blacken the square corresponding to the same letter of the
alphabet as the answer you have selected and mark with a SB pencil.

(i) Answer Section B-Part II (Word Forms) question on the Senior English Language
answer sheet provided. Please use blue or black ink to write your answers.

4. Before attempting the questions, fill in your index number on the marking-sheet
(computer card) and blacken the corresponding letters/numbers with a SB pencil. After
answering all the questions, blacken the numbers of the questions you have answered in
the question number column and also indicate the total number of questions answered.

5. Paper 2 consists of eleven printed pages and a blank page at the end.
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SECTIONA READING (30%)
Part I Critical Reading (10%)

Read each extract and then choose the best sentence that summarises the extract.

Snow-makers often talk about dry snow and wet snow. Dry snow has a relatively low amount
of water, so it is very light and powdery. This type of snow is excellent for skiing because skis glide
over it easily without getting stuck in wet slush. One of the advantages of using a snow-maker is that
this powdery snow can be produced to give the ski slopes a level surface. However, on slopes which
receive heavy use, resort owners also use denser, wet snow underneath the dry snow. Many resorts
build up the snow depth this way once or twice a year, and then regularly coat the trails with a layer

of dry snow throughout the winter.

A Dry snow is better than wet snow for skiing and resort owners.

B Dry snow is different from wet snow in terms of its characteristics.

C Dry snow is suitable for skiing and is used by resort owners for coating.
D

Dry snow is the best snow to be used in skiing and coating the trails throughout the winter.

Language is also part of the different ways that men and women think about friendship. Most
North American men believe that friendship means doing things together such as camping or playing
tennis. Talking is not an important part of friendship for most of them. American women, on the other
hand, usually identify their best friend as someone with whom they talk frequently. Tannen believes
that for women, talking with friends and agreeing with them is very important. Tannen has found that
women, in contrast to men, often use tag questions. For example, a woman might say, “This is a great
restaurant, isn’t it?” By adding a tag question to her speech (“isn’t it”), she is giving other people a

chance to agree with her.

Women and men think differently about languages.
Men never use tag questions, while women often use tag questions.

For women, the purpose of using tag questions frequently is to identify their best friends.

S O = »

For women, agreeing with them is important and they like to seek agreement from others by using

tag questions.
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3. The popularity of home tuition (home schooling) has traditionally been blamed on the rigidity
of the examination system, parents being unable to get their children into the school of their choice,
and dissatisfaction with teaching methods. Some parents also prefer to keep their children at home
because of bullying and a lack of discipline in schools. Academics now claim, however, that a
significant proportion of families educating children at home do so because they feel that the concept
of institutionalised education is a thing of the past. They believe that schools could be obsolete within

20 years as parents turn instead to media technology, such as the Internet, to educate their children.

A In twenty years, all schools will be closed down because of the inflexibility of the examination

system.

B Many parents will switch to home schooling because they are not capable of getting their children

into the school of their choice.

C Many parents might choose to home-school their children with the help of the advanced media

technology and give up on schools.

D Most of the schools will be reviewed by the government if they fail to prevent students from getting

bullied and there is a lack of discipline.

4. Many educational organisations in the United States believe that a high school graduation
requirement should be that students devote a certain number of hours outside of the classroom to
community service. Supporters of mandatory volunteering believe that the school’s role should
include not only preparing children to be academically successful, but also helping them to be
responsible citizens and active participants in their communities. However, not everybody believes
that mandatory volunteering is a good idea. Those opposed to the requirement believe that the term
“mandatory volunteering” is an oxymoron, a contradiction; they believe that volunteering should be

something you do out of your own free will. It is not something that is forced on you.

A Mandatory volunteering has been set as a high school graduation requirement in many schools in

the United States.

B Many people think that students should spend a lengthy period of time on mandatory volunteering

to be academically competent.

C Even though some people support the idea of mandatory volunteering, there are still others who

think that volunteering should be of one’s free will.

D Most of the people disagree on the idea of mandatory volunteering as they think that students
should not be forced to do something they do not like.
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Creating a study timetable is a vital step to be a successful student. It is advisable for students
to plan one hour of study time for every one hour of class time. At exam time, more study time would
be essential. Moreover, students must study in a quiet place away from the distraction of other people,
television and radio. Students should find a comfortable place with plenty of space for all the needed
study supplies. Then, students need to study the information in small amounts. It is a good idea to
learn the required concepts slowly and thoroughly instead of trying to learn everything at the eleventh

hour. Students who want to be successful should remember these three helpful study strategies.

Successful students study one hour a day.
Successful students study for eleven hours.

Successful students study just before an examination.

S O =x B

Successful students are consistent with their study time.

Part II Vocabulary (10%)

10

15

20

Read the following passage carefully and choose the most appropriate meaning of each word or
phrase printed in bold as used in the passage.

I was diagnosed with Attention Deficit Disorder (ADD). It means that I appear to be
listening while all the time my mind is somewhere else. I’ve learnt to accept the fact that I’'m an
enigma to some. The whole syndrome can sometimes make me feel like | am on the outside

looking in. Everyone seems to be getting it and I’m not.

What really burns me up, though, is when teachers don’t get it. In middle school, I was
enrolled in Mrs Smith’s gifted section. That first day, she not only set down the rules of her
cellblock, but she handed out copies of them for us to memorise and be tested on the following
day. I knew right away that I had better “advocate” for myself. Basically, I have lousy reading
comprehension and my handwriting is the pits. So I told her I have ADD and that I might need to
take home some reading assignments because my concentration is better when I am in a quiet
surrounding. As I explained all this to Mrs Smith, she gave me a squinty-eyed look down her
bespectacled nose and said, “You are no different from anyone else, young man. If I do for you, I
have to do for all the others,” She snorted once and then added, “I will not give you an unfair

advantage over your peers.”

One day, after she had handed me back my fifth X’d out paper of the term, I approached her
desk for the second time. “Would you mind very much if I complete the next packet at home, Mrs
Smith? I think I might do better when there is less distraction.” Then I backed away from her desk
as though I were within firing range of her loaded mouth as she said, “It’s against the school
policy, young man. No unfair advantages. I have treated all students the same in thirty years I have
taught here.” Then she flared her nose, clicked her heels and turned away from me, in more ways

than one.
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So I did what any other kid would do in my situation: I smuggled the packet out of the classroom.
I felt like I was doing something illegal, and yet my motives were pure. I had to prove to her, or
rather prove to myself, that I could do the work under the right conditions.

25 I secretly unfolded the contraband on my bed that night. The story, which had seemed so
confusing in class, became quite clear to me in the still of my room. I could even relate to it. It
was the true story of Louis Braille, who lived in the 1800s and was blinded by a childhood
accident. During this time, society shut off the blind from having much of an education. Despite
much misunderstanding of his disability, Louis Braille “advocated” himself. He developed a

30 reading system of raised dots for the blind, which enabled him to read on par with his peers. I was
like Louis in my classroom setting. I was being made to learn like the other students who were
sighted in a way I wasn’t.

That night I sat down at my word processor. My thoughts spilled out so fast that my fingers
danced across the keyboard, straining to keep up. I explained myself in terms of Louis, in hopes
35 that Mrs Smith would finally understand me. Funny thing is, somewhere along the line I began to
understand myself in a way I never had before. I cited many other famous people who were in
some way different in their learning styles and abilities throughout history. I summed it up all by
asking, “If I were a student with vision impairment, would I be seated at the back of the room?” |
questioned, “Would I have my glasses taken away from me so that I would not have an unfair

40  advantage over other glassless students?”

Mrs Smith never looked at me as she handed my paper back face down on my desk that

day. I found an A decorating the margin instead of her customary X.

(Extracted and adapted from Applying Myself by C.S Dweck
from Chicken Soup for the Teenage Soul on Tough Stuff)

6. I’m an enigma (lines 2-3) means
A friendly but mysterious

mysterious and confusing

approachable and friendly

TS a=w

approachable but mysterious

7. When the writer says he is on the outside looking in (lines 3-4) , he is

A frustrated in not being able to follow the lesson

B depressed that he is locked out of the classroom

C punished for not being able to follow the lessons

D confused as to why he was locked out of the classroom

8. The phrase what really burns me up (line 5) expresses the writer’s

A disappointment
B depression

C stress

D anger
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9. The writer ironically describes the class as a cellblock (line 7) because
A the classroom resembles a cell
B the classroom is dull and cubicle in shape
C of the strict and stringent rules set by the teacher
D the class comprises students with discipline problems

10. I had better “advocate” (line 8) for myself shows that the writer is determined to

A express his feelings to everyone

B express his frustration to his teacher

C speak up to his teacher about his disability

D get his parents to talk to the teacher about his disability

11.  When the writer describes his handwriting is the pits (line 9), it means that it
A s illegible
B is very clear and legible
C can be deciphered easily
D causes an indent on the paper

12.  When Mrs Smith told the writer that I will not give you an unfair advantage over your peers (lines
13-14), it shows that she
A s lenient
B is not biased
C 1s an unfair person
D is a practical person

13. The phrase in more ways than one (lines 20-21) refers to Mrs Smith’s
A numerous ways of showing her dissatisfaction of the writer

various ways to avoid answering students’ questions

reaction to the writer’s request

Caw

displeasure on being disturbed

14. The phrase I could even relate to it (line 26) shows that the writer is able to
A sympathise with Louis
B have a rapport with Louis
C associate the situation in the passage with his
D retell the situation described in the passage to the teacher

15. When the writer said that his classmates were sighted in the way I wasn’t (lines 31-32), it describes that
he is less privileged than his classmates due to his condition

he is privileged than his classmates due to his situation
his classmates all do well due to their good vision

TCaw»

his poor vision is a hindrance to his studies
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Part Il Comprehension (10%)
Read the following passage carefully and then answer the questions that follow. Select the best
answer for each question from options A, B, C or D.

Research is beginning to reveal that positive thinking is about much more than just being
happy or displaying an upbeat attitude. Positive thoughts can actually create real value in your life
and help you build skills that last much longer than a smile.

The impact of positive thinking on your work, your health, and your life is being studied
5 by behavioural psychologists and one of them is Barbara Fredrickson.

Fredrickson is a positive psychology researcher at the University of North Carolina and she
published a landmark paper that provides surprising insights about positive thinking and its
impact on developing skills. Her work is among the most referenced and cited in her field and it is
surprisingly useful in everyday life.

10 Researchers have long known that negative emotions programme your brain to do a
specific action. When a tiger crosses your path, for example, you run. The rest of the world
doesn’t matter. You are focused entirely on the tiger, the fear it creates, and how you can get away
from it. In other words, negative emotions narrow your mind and focus your thoughts. At that
same moment, you might have the option to climb a tree, pick up a leaf, or grab a stick — but your

15 brain ignores all of those options because they seem irrelevant when a tiger is standing in front of
you.

This is a useful instinct if you’re trying to save life and limb, but in our modern society we
don’t have to worry about stumbling across tigers in the wilderness. The problem is that your
brain is still programmed to respond to negative emotions in the same way — by shutting off the

20  outside world and limiting the options you see around you.

For example, when you’re in a fight with someone, your anger and emotion might consume
you to the point where you can’t think about anything else. Or, when you are stressed out about
everything you have to get done today, you may find it hard to actually start anything because
you’re paralysed by how long your to-do list has become. Or, if you feel bad about not exercising

25 or not eating healthy, all you think about is how little willpower you have, how you’re lazy, and
how you don’t have any motivation.

In each case, your brain closes off from the outside world and focuses on the negative
emotions of fear, anger, and stress — just like it did with the tiger. Negative emotions prevent
your brain from seeing the other options and choices that surround you. It’s your survival instinct.

30 On the contrary, when you are experiencing positive emotions like joy, contentment, and
love, you will see more possibilities in your life. These findings were among the first that proved
that positive emotions broaden your sense of possibility and open up your mind to more options.

The benefits of positive emotions don’t stop after a few minutes of good feelings subside.
In fact, the biggest benefit that positive emotions provide is an enhanced ability to build skills and
35 develop resources for use later in life.

Let’s consider a real-world example.

A child who runs around outside, swinging on branches and playing with friends, develops
the ability to move athletically (physical skills), the ability to play with others and communicate
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40

45

16.

17.

18.

19.

with a team (social skills), and the ability to explore and examine the world around them (creative
skills). In this way, the positive emotions of play and joy prompt the child to build skills that are
useful and valuable in everyday life.

Fredrickson refers to this as the “broaden and build” theory because positive emotions
broaden your sense of possibilities and open your mind, which in turn allows you to build new
skills and resources that can provide value in other areas of your life.

Positive thinking isn’t just a soft and fluffy feel-good term. Yes, it’s great to simply “be
happy,” but those moments of happiness are also critical for opening your mind to explore and
build the skills that become so valuable in other areas of your life.

To put it simply: seek joy, play often, and pursue adventure. Your brain will do the rest.

(Adapted from: How Positive Thinking Builds Your Skills,
Boosts Your Health, and Improves Your Work
by James Clear, Behavioral Psychologist)

According to James Clear, the writer of the article, positive thinking has certain benefits. Which of the
following is an exception?

A Dbeing happy and displaying an upbeat attitude

B creating real value in your life

C boosting your intelligence

D helping you build skills

The impact of positive thinking on people’s work, health and life is being studied by psychologist,
Barbara Fredrickson. Which of the following is her area of psychology research?

A Educational psychology

B Counseling psychology

C Positive psychology

D Clinical psychology

Barbara Fredrickson’s research report has been acclaimed as a landmark paper in behavioural
psychology. Which of the following is the best contextual definition for the word landmark (line 7)?

A A prominent identifying feature of a landscape

B An event marking an important stage of development

C A fixed marker, such as a concrete block, that indicates a boundary line

D A building or site with historical significance, especially one marked for preservation

What do you understand by the statement negative emotions narrow your mind and the focus of
your thoughts (line 13)?

A It means the mind focuses on very limited options to respond or to react.

B It means the avenue to future prospect has become narrower.

C It means chances of becoming successful in life are lower.
D

It means the mind has become sharper and more polished.
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20. Identify the following examples and single out one that is unrelated to the fact that negative emotions
narrow your mind (line 13)?
A In a fight with someone, your anger and emotion may affect your reaction choices
B Feeling weak in willpower when incapable of leading a healthy lifestyle
C Cannot differentiate between needs and wants in one’s life
D Difficulty in starting to do anything when one is stressed out

21. When we are experiencing positive emotions, we can always see more possibilities in our life. Which
of the following feelings is not a positive emotion?
A Contentment
B Superiority
C Love
D Joy

22. The biggest benefit that positive emotions provide is an enhanced ability to build skills and develop
resources for future use. A child who plays happily outdoors with his friends can learn certain skills.
Which of the following skills is unrelated?

A Management skills
B Physical skills

C Creative skills

D Social skills

23. Which of the following is not the expected process of Barbara Frederick’s theory of “broaden and
build” (line 42)?
A Positive emotions open your mind.
B Positive emotions allow you to build new skills.
C Positive emotions enhance your mathematical talent.
D Positive emotions broaden your sense of possibilities.

24. Negative thinking and negative emotions can result in undesirable and harmful consequences. Which
of the following is not one such consequence?
A The bank interest of a pessimist’s savings will be affected.
B A negative attitude can shorten one’s life as it is hazardous to health.
C A person’s negative behaviour can also affect people around him or her.
D A pessimist is usually insecure in life and feels uncertain of his or her future.

25. Which of the following groups of people, do you think, will appreciate and gain most from the
message conveyed by this article about the benefits of positive thinking?
A Country farmers who are happy about their simple working lifestyle
B A family excitedly planning for their forthcoming overseas trip
C Pessimists who have failed to discern negative consequences
D Retired senior citizens who now lead a sedentary lifestyle
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SECTION B LANGUAGE USE (20%)
Part I Error Identification (10%)

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

Dong Zong Copyright Reserved

In each of the sentences below, four parts are underlined and lettered A, B, C and D. One of these

parts contains an error. Decide whether it is A, B, C or D.

You had better done your revision before the 15™ of September or you might not be ready for your final
A B C D
examination.

Andy will be leaving for Hokkaido on Tuesday. He will first travel by Air Asia to Tokyo and then

A B
takes a connecting flight by ANA to Hokkaido.
C D
Each time John drives through the checkpoint at the Swiss border, the border patrol insists he opens
A B
the canvas for them to_inspect the cargo he is_transporting.
C D
When Arthur landed on his head, he felt his head spun before collapsing on to the mattress with
A B C
blood streaming down his face.
D
The centre of Diane's bed always smells like dog because Reliable, her beagle, lays there every
A B C
chance it gets.
D
Neither anything you have presented me, nor anything I have otherwise learned, have convinced
A B C
me that he has been unfaithful to this charge.

D

During the last period, the classroom was warm and stuffy. Johnathan, who felt tired and boring,
A B C D
soon dozed off.

Sebastian is an all-round athlete. In other words, he is good in a number of track and field events.

A B C D
Owing to her father’s new posting, Jennifer and her family will have to shift from Kuala Lumpur to
A B C
Penang before the end of this year.
D

Scientific advances over the last fifty years have lead to revolutionary changes in health, agriculture
A
and communication, and generally have enhanced socio-economic development and the quality of
B C
our lives.
D
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Part I Word Forms (10%)

Read the passage and then fill in each blank with the correct form of the word in the brackets.

Interaction and communication is important to achieve total excellence in relaying a
message or a conversation. The speaker plays a vital role to ensure the  (36) (intend)
message is being played. It is not easy to talk well but sales personnel, insurance agents and

direct selling agents are able to achieve their targets because of their  37)  (influence) talk.

The first _ (38)  (require) for a good speaker is to have a good voice. The speaker must
have a voice that is neither too loud, too low, (39)  (audible), nor harsh. What the speaker
needs is a voice that is sweet and far-reaching. A good voice is sometimes God’s gift. Some
people are (40)  (gift) with the voice that can arrest and attract you. However, an

experienced speaker will comment that this canbe _ (41)  (cultivate) to the required quality.

Facial expression is also important for a speaker. The emotions expressed should be

appropriate to the speech.

The physical _ (42)  (appear) and gestures of the speaker are very important too. The
audience will be sitting in a room looking at a speaker who must be pleasant though not
(43)  (nmecessary) beautiful. As the saying goes, ‘Mankind normally judges a person by the

looks’.

The length of a speech is a matter of importance. An hour is long enough for a good
public speech. The secret of success is the art of (44)  (omif). Leave the audience with a
feeling that you have spoken  (45)  (effect). Bear in mind the pulse of the audience. Stop

before the audience get tired or restless.
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SECTION A SUMMARY WRITING (15%)

Read the following passage carefully. Write a summary on:
- how amazing the human brain is
- how to enable it to function well

Your summary should be in continuous writing and should not be longer than 150 words. Credit will be given
for the use of own words. State in brackets the number of words you have written.

Go ahead and multiply the number 8,388,628 x 2 in your head. Can you do it in a few seconds?
There is a young man who can double that number 24 times in the space of a few seconds. He gets it
right every time.

The brain is an amazing thing.

Your brain may not be nearly so odd, but it is no less extraordinary. Easily the most sophisticated
information-transfer system on Earth, your brain can process it in less time than it takes you to blink. To
accomplish this miracle, your brain sends jolts of electricity crackling through hundreds of miles of
wires composed of brain cells so small that thousands of them could fit into the period at the end of this
sentence. You accomplish all of this in less time than it takes you to blink. What’s equally incredible is
this: most of us have no idea how our brain works.

There are Brain Rules.

For starters, we are not used to sitting at a desk for eight hours a day. From an evolutionary
perspective, our brains developed while working out, walking as many as 12 miles a day. That’s why
exercises boost brain power. Exercisers outperform couch potatoes in long-term memory, reasoning,
attention and problem-solving tasks.

As you no doubt have noticed if you’ve ever sat through a typical PowerPoint presentation, people
don’t pay attention to boring things. You’ve got seconds to grab someone’s attention and only 10
minutes to keep it. At 9 minutes and 59 seconds, something must be done to regain attention and restart
the clock. Also, the brain needs a break.

Ever feel tired about 3 o’clock in the afternoon? That’s because your brain really wants to take a
nap. You might be more productive if you did: in one study, a 26-minute nap improved NASA pilots’
performance by 34 percent. And whether you get enough rest at night affects your mental agility the next
day. Sleep well, think well.

We have heard of a man who can read two pages at the same time, one with each eye, and
remember everything in the pages forever. Most of us tend to forget more than we can remember and
that’s why repetition is essential to boost memory.

Babies may not have a lot of knowledge about the world, but they know a whole lot about how to
get it. Then we will understand better why the terrible twos only look like active rebellion but actually
are a child’s powerful urge to explore. We are powerful and natural explorers, and this never leaves us,
despite the artificial environments we’ve built for ourselves.

(Adapted from Brain Rules by John Medina)
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SECTION B ESSAY WRITING (35%)

Write an essay of not fewer than 350 words on one of the following topics.

1. We often hear of how selfish and materialistic people in our society have become. Suggest one
community service activity that you and your friends can do to show that you care. Why do you choose

this activity and how will it benefit society?

2. Attitude is the most important factor that leads to success in life. Do you agree?

3. Cyberbullying is so rampant nowadays that it is becoming a worrying trend. Discuss the effects of this

alarming trend.

4. In this digital age students are encouraged to replace textbooks with e-books to make way for smart

learning in the classrooms. Compare and contrast the two ways of learning.

5. The current cost of living is very high. In your opinion, what are the ways for a family to reduce their

monthly expenditure in order to stretch their ringgit.
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